PID efficiency study

« K /m eff fall rapidly around 1 GeV
<« K /p eff dip around 5 GeV
<« Abnormal effs at @ = 45°

« Other distributions in backup

X2 = xfor() + xpc (D), i = /K /p

. . N _ ajreco reco
Efficiency (i) = Ni(xz(i)<)(2(j))/N‘
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K eff falls rapidly around 1 GeV
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K eff dip around 5 GeV
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p eff dip around 5 GeV
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Abnormal effs at @ = 45°

2 4 6 8 10 12 14 16 18 20

4 6 8 10 12 14 16 18 20

momentum/GeV ‘ momentum/GeV
B sl T T T T T — 2 T T B
—_ K 5 | OEPCReLTOR O= ] §m ax 3
0.60 | @ ; . ‘ £ o N ,
0.0 25 5.0 75 100 125 150 175 20.0 awafe = 0 —
Momentum (GeV/c) i ; 200 é
From Chenguang E
B . o 3
E‘\.-'Vr\h_:"l'm | P . .,E — E
20 30 40 50 [ 0 20 30 40 50 [
¥_tof x_tof
<« Much lower /K effs around 1 GeV R e
S, £0G Rnk T O= E S — o= E
5 K [ K
2 b= P E g 1 . 3

8774 events TPC reconsiructed 3776 events TPC reconstructed

:] right PID efficiency = 0.604 E

1t distributions

4

D)

D)

8 5 & 8 8 3

» Low TPC and TOF reconstructed | K distribytions _
| at1Gev i at1Gev

E & 8§ B §|‘§m§m§jm;§

E
H right PID efficiency = 0.602

Nevents of 0.8 GeV and 1 GeV E L

5
xtpe x_tpe

. . glm ; CEPC Ret-TDR [md = g b Icspc mrnlm I I:I:‘ E
< Dip in TOF reconstructed Nevents T B e
lmﬂ;—l[ ight PID efficiency = 0.607 —: - :_ right PID eff; liciency = 0.690 E
sl 3 C ]
FL ]
around 7 GeV 3 é
o 3 ]
200 11 E - *7
—



https://indico.ihep.ac.cn/event/23848/contributions/169197/attachments/82688/104748/14Oct2024RefTDR.pdf

back up



Distributions at 90 degree
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Distributions at 60 degree
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Distributions at 45 degree

0.65

O
18000
15000
14000
12000
10000
8000
6000
4000

._4__—’__'
e e

IllllllllllIlIlllllllIIIIIIIIIIIIIIIIIIII_

-II|IlII|IIII|IIIIIIIII|IIII|IIIIIIIII[IIII

On
N = i‘
m 3 \

P
8 10 12 14 16 18 20
momentum/GeV

Ww%lrl$%1?lll|l’("]ll'@l'l"ll?'l_l_l_
& T

K
«p

Ntpc~p

——

[N NS AR RE NS RS e SR A

[T TP IO O ITT[TTr ot

o

N
m__
i

PR ATV I TNETIN AR A
14 16 18 20
momentum/GeV

PN REUTEE A
10 12

TTITT[TITT[TITT[TITT

o
[3)]
T[T

Right PID efficiency(TOF)
o
Ihil T

o
s N
T[T T ITT

om

NE

,,;'_

o"_

il
"8 10 12 14 16 18 20

momentum/GeV

L
5000
#6000
14000
12000
10000
8000
6000
4000
2000

P ——

|
b

|||él« T

N A

T T

TETT T T T T TT

R
K
-p

5
r o
» e 9|
{
=
||||||||||||IIIIIIIIIIIIIIIIIIIIIIIIII

°_||

N

aE

o

sl sl by s by o by g by
8 10 12 14 16 18 20
momentum/GeV

y

o
© w»
© O

o
o
2]

lll|III||||||||||||||||||||||||||||||

o
[

Right PID efficienc

0.75

o
ﬂ

0.65

L
N

L
iéooo
15000
&qooo
12000
10000
8000
6000

™ |||||||||||||||1|]||1||||]|||||||]||1||||

T
\ K
e

'|||||||l[|||||||||||||||1|||||||||||||

PENTN B U NN AR A
468101214161820
momentum/GeV

LI LI O L I O S L
+T

K
~p

?

=
!
<

—

QUrT[ T Or[UIrT[ I [ I [ TTT It
| NI A N S S S W A

4000

o

N
pi
m_

i el by b by
8 10 12 14 16 18 20
momentum/GeV

11



Distributions at 35 degree

Right PID efficiency(TPC)

0 o 9 b 6 D O
W B O N © © a

BELISEESS B Y ‘

(=

—II[llIIIIIIIIIlllIIIIIIIIII|I|II|IIII_

°_II[Illl||I|IIIIII]IIIIIIIII]IIIIIIIII_

ol by b b s b by by by byw oy Ly

2 4 6 8 10 12 14 16 18 20
momentum/GeV
&) R e SN L e O RN | ‘l’r‘r"f-"l—l—v:
o C P .
8000 k|
=z L «p 7]
15000_—| ]
14000 :
12000 Nypc~p E
1oooo}l =
8000 -
6000__‘-I-..I...I...I...I...I...I...I...I...I..__

0 2 4 6 8 10 12 14 16 18 20

momentum/GeV

0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

(TOF)

Right PID efficiency

III||IIII||]|II||I|||Ill|||IIIII|IIIIIIII|IIII

om

N

PP TP PP PR e = = = SO0 TR
6 8 10 12 14 16 18 20

momentum/GeV

o)
8000
C
{5000
?:
T4000
12000
10000
8000
6000

=T

LI I A O G L
s

K
-p

Ntop~p

°.

o b by vy b by b b b g by
6 8 10 12 14 16 18 20

momentum/GeV

—IIIIllllIIIIIIIllllllIIIlIIIHIIIHIIIIIIIIIIII_

'l

D P P B P I I S P
0 2 4 6 8 10 12 14 16 18 20

momentum/GeV

(I
8000
#6000
14000
12000
10000
8000
6000
4000
2000

_=_

—

°_||

N

iy

o

s by v b by v by v by v a bww g by
8 10 12 14 16 18 20
momentum/GeV

12



	pid
	幻灯片 1: PID efficiency study
	幻灯片 2: 大写 K eff falls rapidly around 1 GeV 
	幻灯片 3: 加粗斜体 pi eff falls rapidly around 1 GeV 
	幻灯片 4: 大写 K eff dip around 5 GeV
	幻灯片 5: 加粗斜体 p eff dip around 5 GeV
	幻灯片 7: Abnormal effs at 加粗斜体 theta 等于 粗体 4 粗体 5 ...次方 圆圈运算符 

	无标题节
	幻灯片 8
	幻灯片 9: Distributions at 90 degree
	幻灯片 10: Distributions at 60 degree
	幻灯片 11: Distributions at 45 degree
	幻灯片 12: Distributions at 35 degree


